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//life.cpt

/*
 * Conway's Game of Life implementation
 *   
 */

#define alive 1
#define dead 0

cadef
{

dimension 2;

radius 1;

state ( int life; );

neighbor Moore[8] ( [ 0,-1]N, [-1,-1]NW, [-1, 0]W, [-1, 1]SW,
[ 0, 1]S, [ 1, 1]SE, [ 1, 0]E, [ 1, -1]NE );

deterministic;

}
register int i;
register int sum;

{
sum = 0;
for( i=0 ; i<8; i++)

sum = Moore[i]_life + sum;

if ( sum == 3 || ( sum == 2 && cell_life == 1) )
update (cell_life, alive);

else
update (cell_life, dead);

}

steering {

}
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